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(a) If | f(x) dx is convergent, then |~ g(x) dx is convergent. S
(b) If | g(x) dx is divergent, then | f(x) dx is divergent. o
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EXAMPLE 9 Show that : e *dx is convergent.
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EXAMPLE 10 The integral J
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EXAMPLE 1 Find the length of the arc of the semicubical parabola y* = x’ between
the points (1, 1) and (4, 8). (See Figure 5.)
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EXAMPLE 2 Find the length of the arc of the parabola y* = x from (0, 0) to (1, 1).
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EXAMPLE 3

(a) Set up an integral for the length of the arc of the hyperbola xy = 1 from the
point (1, 1) to the point (2, 1).
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EXAMPLE 4 Find the arc length function for the curve y = x> — g In x taking Po(1,1)
as the starting point.
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